PasmuH. |beroBas
KocTiom |pybalwka |bespykas | Cymma
damumnna NUma POCT |[4300 1800 Ka 2500 8600
1 |APAHACLEB OAHUTA 160 S S S 8300
2 |bYAHOB MUXAUN L L 0 5900
3 |BAPAHKUMH APCEHUN S S S 8300
4 |BUHOIPAOOB |UIOPb S S 0 5900
5 |TABPU/10B OEHNC 160 XS XS XS 8300
6 |KOXAEB BOPUC L L L 8300
7 |NANWWH CBATOC/NAB 3XS 3XS 3XS 8300
8 |MWHAKOB JIEB 150 XXS XXS 0 5900
9 |MOWUCEEB ANTEKCAHAP 170 M M 0 5900
10 (HECTEPOB MAKCUM XXS XXS XXS 5900
11 [METPYLWUEBCKAA |[TAUCUA XS 4300
12 (PAMLL EBFEHUN L 0 0 4300
13 (CEBEPUH BJIAONMUP 145 XXS XXS XXS 8300
14 (CYTAMNOB APCEH 134 3XS 3XS 3XS 8300
15 (CYIJTIUHA OAPbBA KYpTKa? ?
16 (oMnnmnnnos FEOPIUIA 158 XS XS XS 8300
17 (UbITAHOB ErOP 145 XS XS XS 8300
18 (WAAPWH MUXAUN M M 5900
19 (CTOAHOB BAJIEHTUH 152 XS XS 5900
20 |YLWAKOB ANEKCEN M M M 8300

KocTiom + pybauika = 5900 (6100)

KocTiom + pybaluka + xunet = 8300 (8600)




